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/A
n people P, Q,R, S, T, Uand V are living at seven different floors of the building in such a wx P
that ground floor is no. 1 and top floor is no. 7. Each of them likes different colours i.e. Red, Blue,
green, Yellow, Pink, Orange and White but not necessary in same order.

U lives on an even number floor. One floor is between U and the one who likes Red colour. The one
who likes White colour lives one of the floors above P. The one who likes blue colour live on the
2nd floor. Q lives above the one who likes red colour. R lives just below Q. T lives above Q. The one
who likes white colour live on the 5th floor. R does not like white colour. Not more than four
persons live between T and V, who lives below S. S likes green colour. The one who likes yellow
colour live just above the one who likes Pink colour.

HIT SATFTP, Q, R, S, T, U 3R V SHARE & AT 37e091-37eT Aforell 9T 30 THR G ¢ 1 T Agi a1 1 3R
oY e 1. 7. 3T § TA Y IIN-37el9T T GHG § 34T o1, A, &1, e, Jrerell, AReft ik athe
dAfehe 3TaeTs 181 sH FH H 8

U T W HEAT aTell A TSrer 9T T@ a1 81 U AR aTel TT 9He et dTel i & ALY U AfA ¢ 98
afea o wihg o1 g § 98 P & FX ol wap Aol w1 Tge ¥ ofiel Tor T e aren safaa gud
AT 9T g1 &1 Q 3 TP & U T@AT & T4 Tl T 9HE 8| R, Q & S A @WaAT ¢ 1 T, Q F FI
TET 81 THG T THE F4o1 arel AT 537 Afrer 9N @ 8| R HT Whe Trywg A 81 TRV, s F
A1 TEaT 8, F €T IR W AT A fFa 78 W 81 S P g0 W7 e ¢ 9 sqfaa foy dielT T 96e ¢ 98
IATE LT GHG FI&A Tl & SN TR @l o
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SBI

Seven people P, Q, R, S, T, U and V are living z! .
seven different floors of the building in such a
way that ground floor is no. 1 and top floor is no.
7. Each of them likes different colours i.e. Red,
Blue, green, Yellow, Pink, Orange and White but
not necessary in same order.

U lives on an even number floor. One floor is
between U and the one who likes Red colour. The
one who likes White colour lives one of the
floors above P. The one who likes blue colour live
on the 2nd floor. Q lives above the one who likes
red colour. R lives just below Q. T lives above Q.
The one who likes white colour live on the 5th
floor. R does not like white colour. Not more than
four persons live between T and V, who lives
below S. S likes green colour. The one who likes
yellow colour live just above the one who likes
Pink colour.
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Y 1
_ 1.Who among the followmg person lives on the 3rd
o Twne | e
ite (AR (b)S(c)Q
EER T (o) - (o) None of these
_

2.How many floors between the one who likes Pink

__ colour and the one who llkes Blue colour? 'ﬂT»I'Fq‘T T
qHE FT ara 3R AeT 1 gHE # I AT &

Aey fhaed Afaar 872
(a) None (b) One (c) Three
(d) Four (e) Two

ii

H

3.Who among the following person likes Red colour?
fPrafaf@a & @ & arer W1 gHe FIAT 82
(AQQU(b)S(c) T

(d) R (e) None of these
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4.Four of the following five are alike in certain way®
based from a group, find the one that does not belong

to that group? eafaf@a g & & IR Afaa &
¥ TH A & IMUR W WA 8, 39 FHZE & Il
Wsﬁwwﬁmﬁa%’r%’?
=) Al
T (d)Q(e)T

5.Who among the following person lives at the

topmost floor? AFafAf@a & ¥ Fla gaa Fad
AfSrer 9 TEaT 87

(@U(b)Q(c)T
(d) P (e) None of these
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6. In a row Ram sits 23rd from the left end of the row and Aman sits 25th from
the right end of the row. If there are 7 people sit in between Ram and Aman
then find out how many people sit in the row?

U&h 9fFd & TH 9Fd & T 8] ¥ 239 T W dar1 § 3R 37T 9ffa &
gl BR ¥ 259 TATH YT 371 g1 Ife TH 3R 34T & #Aeq 7 Gifqg & &, O
AT AT F 9fead & Faa afFa 38 &2

(a) 54 (b) 47 (c) 52
(d) 60 (e) Can’t be determined
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7.How many pairs of letters are there in the word “VALUATION” each of which
have as many letters between them (both forward and backward directions) in
the word as they have between them in the English alphabetical series?

A “VALUATION” H &I & W fhcdsl 97 ¢, o @ 93AF & fiw 3a4 @

%Tm%(maﬁtmaﬁﬁﬁemﬁﬁ)ﬁaﬁmaﬁmmmﬁ
?

(a) None (b) Two (c) Three

(d) More than three (e) None of these
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BNt persons are sitting around a square table in such a way that four-person sits atﬂ
four corners and one person sits at each side of the table. Some of them face towards

the center and some of them face outside the center. Not more than two persons face

the same direction sit together. R sits third to the right of X, who faces outside the

center. V sits opposite to R. U sits opposite to T and T does not sit at the corner of the

table. Y sits second to the right of W. Y is not an immediate neighbor of R. Z sits

immediate right of the one who sits fourth to the r;%ht of U.

316 AfFd T TSR AT & IR 3R 59 TR &6 § F IR FFd IR Fer |
4% § IR TH AT AT & IAF 9&T W §odT gl 397 @ FS 1 AG g A IR
¢ IR F5 &1 AW Fg & TR A AN . 0F & e A 3R 3w
afFd T 1T a8 &6 IR, X & & A Y TU

dTeY T I ¥ VRF RAuda do1 &1 U
h%ww#aﬁﬁ_&wﬁwﬂa%w
Tl T RIS © & e T dor g

¥
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Eight persons are sitting around a square table in such a way that four-person sits at
four corners and one person sits at each side of the table. Some of them face towards
the center and some of them face outside the center. Not more than two persons face
the same direction sit together.

R sits third to the right of X, who faces outside the center. V sits opposite to R. U sits
opposite to T and T does not sit at the corner of the table. Y sits second to the right of
W.Y is not an immediate neighbor of R. Z sits immediate right of the one who sits
fourth to the right of U.
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8.Who among the following sits immediate right of Y?
faafaf@a & @ &l Y& &« g do1 82
(@)T(b)U(c)V

(d) R (e) None of these

9.How many persons face towards the center?
JUROT ST & g $T 3R §7?

(a) Three (b) four (c) Two

(d) More than four (e) None

10.Who among the following sits second to the right

of R?

%ﬁmﬁﬁaﬁﬁﬁaka;aﬁ#(a’{wmwﬁa
?

(AU (b)W(c)Z

(d) X (e) None of these
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11.Which of the following statement is true about X?
faafaf@a & @ ia a1 997 XF TN 7 g7 872
(a) X sits immediate right of V

(b) X sits opposite to W

(c) T sits immediate left of X

(d) Three persons sit between X and Z

(e) None is true

12.How is Rrelated to Y?

R Y# FH yoR Fafta g2
(a) Third to the right

(b) Fourth to the right

(c) Fifth to the right

(d) Second to the right

(e) None of these
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MEF, THY, JFG, KSY, NOE, RXB

13.When first and second letter of each word is interchanged, then how many meaning full word
will be formed ? ST YA+ g & Ugo i qEY H&W F 39W H Feo f&Ar Srar g, O fFaa
7Y qUT ereg T2

(a) Three (b) Two (c) One (d) Five (e) None of these

14.If each Consonant is changed to previous letter in the alphabetical series and each
vowel is changed to next letter in the alphabetical series, then How many word contains at
least one vowel? IfE YA+ cToTel I JUTATAT &BEITvlT H oo e ¥ Jeo fear Jran %
IR TAF T T JOTATAT H@T A I &R A e AT Sram 8, Y e ereal A
FH ¥ FA TH TG T g7

(a) None (b) One (c) Two (d) Three (e) None of these
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MEF, THY, JFG, KSY, NOE, RXB

15.If words are arranged according to the alphabetical series from left to right, which word

is third from the right end? Ife qeGT Y & HAHAR g0 ¥ 0 syafeyd fham
ST ¥, @ FIT AT weg g SR ¥ Y T 9 §7
(a) MEF (b) KSY (c) JFG (d) THY (e) NOE

16.1f each letter in the each word is arranged according to the alphabetical series from left to right, and
then first and second letter are interchanged in each word then how many meanln% full word will be

formed? I Ud® Usg & Ucds 3HEW H 91U A IV JUIhHA & HTAR Faiedd ST §, 3R
R 9w g F vedr 3N @Y HER H HUW A e AT AT 8, @ Frawt 3 qof ereg e
(a) One (b) Two (c) None

(d) More than three (e) None of these
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17.How many pairs of letters are there in the word “Collection” (both
forward and backward direction) each of which have as many letters
between them in the word as they have between them in the English

alphabetical series? g "HA" (3M 3R AiS =t feemsit) & 3{&111 & 00
ﬁv_clﬁ'\_?n?% m#m%%mﬁaﬁt%ﬁaﬁﬁ:mm
H 3+ &g §7?

(a) Two (b) None (c) Three

(d) More than three (e) One
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There are eight employeesi.e.A,B,C,D,E, F G
and H who are born in eight different months
start from March to October of a same year. C is
born in June. There is only one employee whose
birth month is between C and B. E is born in last
month of given data. H is born just before the
month on which A is born but after C’s born
month. F is younger than C but older than A. G is
Younger than D.

TS FAART YT A, B,C, D, E FGIHT HE
oot Sed TF @ a¥ & A @ HFER dF
TS 3TeTT-37eT9T AT 3 &3 &1 CHT oIeA et
& gam ¥ Faa v FHAN T HHET I=7 AQ
c3k BF g &1 Ed1 5= RE a7 22T &
A AT A T & HFT oA 39 A &
S TEA §IM § O AET AST SI=H gl §
AfFT CF oA & AT & d€| FCH BT &
dfheT AQ @37 81 G, DH BT gl
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18.Who among the following is younger than A?
v farfaf@a 7 9 sl AT ST 82

(a) B (6) D (O)

o
J
Ju

y
l 19.How many employees are older than F?

Rt Tty £ @ 2

(a) Four (b) Two (c) Three

(d) Five (e) No one

October
20.If G's born month is interchanged with A’s born month, then G is

older than which among the following employees? qf¢ G & e &
AET Y A% Sled & Al & AT dgol f&ar SIar §, af G
ffaf@a & & 9 Faarlr a 31 87

(a)H (b) B (c) E

(d)F(e)D


http://www.mahendras.org/

&) SBI CLERK 2022 / /mmat 11:30 AM/

21.How many employees born between B and G?

BsﬁTG$aﬁaﬁmﬁﬁmWW§3ﬂ?

, (a) No one (b) One (c) Two
G (d) Three (e) Four

August 22.Which of the following month D is born?
frafated & @ B 7O DFT T g §2

(a) August (b) June (c) May

October (d) March (e) None of these
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Seven people A, C, G, K, S, M and X are having different ages. K is elder to S but younger to G. The
difference between the ages of 2..eldest and 4« youngest is 7 years. only two persons are elder to C. G is
younger to M who is not the eldest. Age of K is not more than 5 years. X is elder to G but younger to C.
Age of 2..eldest person is the square of the number which is the age of K. Age difference between X and
third youngest person is more than 10 years.

| AfFT A, C, G, K, S, M AR X AT 31T IHA-3rer9r 81 K, ST a7 § AfFeT G & ST g q9q §3
3R ol FaX B P WY F T FT AW 7 a¥ T Fad Q) ARFT cH 92 F 6 MA g o e
aaa%’r%ll(aﬁrmsa%#mﬁa:aﬁ%l X,G® 937 § AfeT CH BYeT 1 gAY TaA 92 qfea A
mgmmﬁr%sﬁxaﬁra@%lx Y TR OX cafea Y g H HaW 10 a9 ¥
7=



http://www.mahendras.org/

SBI CLERK 2022 / /@ at 11:30 AM/ 0

A>M(25)>C>X(18)>G>K(5)>S

23.Who among the following is the 4th youngest?
R & @ Tt wa oY F 87

(a)A(b)K(c)C
(d) S (e) X

24.What is the age of M?

TH &1 37 F4T g7

(a) 36 (b) 64 (c) 25

(d) 30 (e) Can’t be determined

25.What could be the possible age of C?
CH FHIfaa 3T F4T &1 Hehell 872

(a) 28 (b) 30 (c) 15

(d) 22 (e) None of the above
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Yot T is 5m west of point G. Point G is 7m north of point D. Point D is 5m south of M. Point MY
east of point B. Point B is 8m west of point O. Point O is 9m North of point H. ﬁg T, ﬁg G& 5

qRIA AL W G D& 77/ 3ax & £. f9€ D, M & 5 cfayor A & M, B¥ 3 qd #
%.ﬁgB,ﬁgﬁéa:sﬁ'rEqﬁawﬁ%.ﬁ’go,ggoa:gﬁmﬁ%.ﬁgu?r.g "

26.What is the shortest distance between Point M and Point H?

() V107m (b) 10m (c) 12m W’ ——
5“2.()() &

(d) V106m (e) 11m

27.Point D is in which direction with respect to point B?
(a) North-west (b) South (c) East

(d) West (e) South-East

28.What is the shortest distance between Point B and Point G?
(a) 5m (b) 4m (c) V13m
(d) 13m (e) None of these
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(a) If only conclusion I follows.

(b) If only conclusion II follows. 29.Statements: SSW=E=R, F<C<V=N, W>K=V>L
(c) If either conclusion I or II follows Conclusion I: F<S II: E>N

(d) If neither conclusion I nor II follows.

(e) If both conclusions I and II follow.

30.Statements: G>S=]>T<P=B<A
Conclusions:

I. S>P

II. A>T

31.Statements: Q=V>B=N>I, G<H=B<M, S<V<K=L
Conclusion I: L>Q II: H>I
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32.Introducing a girl, a boy says, "She is the daughter of my father's
only brother-in-law". How is the girl related to the boy?

UFH a5 &1 IRTT &d §U UF ISHI Fgdl ¢, "98 A War &
SFala ATer FT A& &1 ASH FT dI5F F FAT G 872

(a) Sister-in-law (b) Grand-daughter (c) Cousin

(d) Daughter (e) Aunt
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There are eight members in a family with three married couples. ] is son-in-law of L, who is married torl'
has one son and one daughter. M is aunt of S. K is mother-in-law of G, who has no children. R is sister of S.

UF GRAR # el AaTRd S g 36 Wew T ¥ ), L# g §, o K Rad N & @& 77 3R o
Tt 81 M, S#Y At 31 K, GHY A 3, Owdr FI WA 81 81 R, SH T@T B

33.How ] is related to R?
(a) Brother (b) Uncle (c) Grandfather (d) Father (e) None of these

34.Who among the following is sister-in-law of G?
(aA)R(b)N(c)M (d) ] (e) None of these

35.Which of the following statement is not true?
(a)Ris daughter of N (b) N is brother-in-law of G
(c) J is brother-in-law of M (d) S is grandson of K
(e) Both (b) and (d)
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If 2 is added to the first digit of each of the numbers how many numbers thus formed will be divisible by
three?

Ife IdF AT & Ugd 3 # 2 g AT ST aY 37 YR dd« ardl fhdsil TEAW did & o= giei?
(a) None (b) One (c) Two

(d) Three (e) None of these

If all the digits in each of the numbers are arranged in descending order within the number, which of the
following will be the highest number in the new arrangement of numbers? If¢ Y% HEAT & T Al FI

T & MaT FaE FH H gafeyd FAr sar &, aY GEA3it i a5 cgavyr & FAafaf@d & § sia-dt
98 931 &A1 gen?

(a) 684 (b) 385 (c) 296

(d) 437 (e) None of these

What will be the resultant number if the second digit of the second lowest number is divided by the third

digit of the highest number? If¢ qEY Ha@ B FEAT & qEY IF I Fa& T3 FEAT & Y 3F @
frsnfara e se a aRomedt aear Far gefi?
(@)2(b)3(c)0

(d)1(e) 4
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684 512 437 385 296

If 1 is added to the first digit and 2 is added to the last digit of each of the numbers then which of
the following numbers will be the second highest number? If¢ gga HF A 1 seEr e 3R
TR HTAT & QA I A 2 S AT, o il #§ @ Fhr @ GEa qEd aed 9
HEIT §9N?

(a) 385 (b) 684 (c) 437

(d) 296 (e) 512

If in each number the first and the second digits are interchanged then which will be the highest
number? I T AF FEAT A ggd AR qEY 3F I IIH F dqol AT T A FI@ I FEAT
Sl HY grft?

(a) 296 (b) 512 (c) 437

(d) 684 (e) 385
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